wybyws 1
Rudwuph wjwawlnt

. 17 .., 09 ,, 2021p.
3US4Us 1 rhy npnoUwl
UuukbU LUNULP IUUUSLLP P3NFRBP GUUUNFSLEN
2021M@.
Swpblwh Gndwd wiwh
Snnh Innwé wjn pyntd’
NN Blwdnwmnbuwybbpp h NN COnwadkbp Tarswlwa | PronwnG
(u.5+u.6)
dwu dwu
1 2 3 4 5 6
1000 CLAUUGLE BLUUUNFSLGP 1218777.64 | 754713.96 | 464063.7
(nnn 1100 + wninn 1200+wnnn 1300)
wjn pynid
1100 1. 3ULruGr 64 sSnrre.P 7100 184912.55 | 184912.55 X
(nnn 1110 + winn 1120 + winn 1130 + winn 1150 + wninn 1160)
wjn pynid”
1110 (1.1 QnijpwjhG hwpybp whwpd qniyphg 7131 37451.5 37,451.5 X
wyn pyntd’
1111 Anypwhwpl hwiwjlplbph qupswlwl tnwpwoplbpnid gunbynn 0.0 0.0 X
2bGpbph L ohGnipyncbGGbph hwdwp, nphg ] '
dhahlwlwl wGdwlghg 0.0 0.0
hpwywpwliwlwlw whdwbghg ‘ 0.0 0.0
1112 3Innh hwpy hLUleUJU‘QUhDh Jupswlwh nmwpwéplbpnid gnlynn 0.0 0.0 X
hnnh hwdwnp, nphg
ynin. Gowlwynipjwl hnntip 0.0 0.0
ns gynLn. Gpwlwynipjwl hnntip 0.0 0.0
1120 | 1.2 Qniyjpwjhb hwpybip wy gniyphg 7136 122183.5 122183.5 X
wjn pyntd”
1121 Qnypwhwpl thnfuwnpwidhpnglbiph hwdwp 122,183.5] 122,183.5 X
1.3 Uypwbpbtiph oquwgnpdiwh Jwd gnponibbnipjwb
1130 hnwlwGwguwh paLpnynLp)wi Yswnbbn 7145 11277.55 11277.55 X
wjn pynid”
1131| Stnwlwl wnnipptin 71452 11277.55( 11277.6 X
wyn pyncd’
w) Iwdwylph tnwpwépntd Gnp 2kGptnh, 2hlnepyntlGhph
1132 (GEpwnjwyg ns hhiGwlwG) 2hGupwnpnipyncl (inbnwnpdw) 2767.0 2767.0 X
pnijnynipjwl hwidwnp (nnn 1133 + wnnnn 1334),
nphg’
1133 ww) Ipibwlwh phGnipyncGlbph hwdwp 2.735.0 2.735.0 X
1134 wp) Ns hhiGwywa phGnipjniG0Eph hwdwp 32.0 32.0 X
p) Iwiw)lph yupswlwl tnwpwdépned pk0pkph, 2hGnipynLblGenh,
pwnuwpwhlGwlwh wj opjeywnbeph ybpwlwrnigdwd,
nidtinwgiwd, yepwlywbqbowh, wpnhwlwlwgdwh
g w2fuwwnwbplbp (pwgwnnipjwip 33 opblunpLpjwip o Sl =
uwhowlyws® 2hGwpwnnipjwlb pniynynipintl swwhwboynn
ntwpbph) Ywwwpbint pnijjnynepjwl hwdwp
q) Swiwylph qupswlwl mwpwépntd EGptinh, 2hGnipyntbGbtph,
1136 pwnuwpwhlwlwh w)j opjElynGaph pwlndwh pneyiinynipjwl 25.0 25.0 X
hwiwnp
n) Iwdw)jlph wwpwdépntld ngbihg futhsplbph L (wd) Sfuwfunwinh
wpwwnpwbph ywdwnph, hul hwGpwihG uGlnh opjtlnbbpnid”
1137 2,796.0 2,796.0 X
ngtiLhg fudhgpltiph L (Ywd) Stuwtuninh wpnwnpwlph hpwgdwl
pnijindnigjwl hwiwnp, Gnyl pynid’
-nqbithg fudhspltph hpwgdwb hwdwnp hhalb. 2hG Gepunid 1,560.0 1,660.0
-6fuwtuninh hpwgtwl hwiwp hhdGwlwb 2hG GEpuncd 1,236.0 1,236.0
1138 B) Jwdwjlph nwpwépntd pwgopjw Jwiwnp Juglwybpwbint 402.5 402.5 X
pnijiinynipjwl hwiwnp




Snnh
NN

Glhwinwwnbuwybbnp

Annqwd
h NN

Swpby

wh Gaunjwo wwh

wjn pyntd’

Llnwukbp
(u.5+u.6)

Juipswlwh
dwu

$nlnwyhl
dwu

2

4

5

6

1139

q) 3wdw)lph wwpwépnid henniy uebhph, wnbubhluwlwh
htinnuyGtph, hbnnyuwgywé qugbinh dwlpwéwiu wnlnph
YGwtpnud hbnniy Junbihph, wnbuGhlwlwb hennoyGtph,
hbnniywgldwé qugbiph Jwdwreph pnyjnynipjwl hwdwnp

800.0

800.0

X

1140

£) Iwdwylph wwpwédpenid webinph, hwlpwihb ubnh,
qunwlph, pwhniing fuwntiph b yh§wywtuwnbiph
Yuqtwltpwdwh opjtiywnbtpp, pwnbhplbpp (uwntGwbbpp),
fuwnwwGtipp dwip 24.00-hg htnn wztuwwntint pnujpnynipjwl
hwdwp

125.0

125.0

1141

n) Iwdwpwnuwpuwihl YuinGGephl hwiwwwwnwufuwb Gpbwh
pwnwph b pwnwpwjhb hwdiwGelitnh mwpwépnid plunwbh
UEGnwGhGbp wwhbnt pnyypnydnepjwl hwdwp

0

1142

p) Iwlwylph mwpwdépnid wninwphl gnywaon nbnunpbint
pnijjnynigjwl hwdwnp

3,208.05

3,208.05

1144

dw) Swiwjlph mwpwdépntd (pugwnnipjwip pwnwihl
hwiw)Gplbph) dwpnwwwp nwpunt (pugwenipjwdp Gppninuihl
nwpuhbtiph) dwewjnipntl hpwlywbwglbint pnyyinynipjwl
hurdwin

10.0

10.0

1145

dp) Pwllwndtp dhnwnlbphg wwwnpwuwnyws hptiph
Jwlpwéwhu wnnijwdwnph pnujjnynipjwl hwdwp

75.0

75.0

1146

da)3wdwjuph wuywuncdp $hpdwht wujwuncdutpnd
oquwgnpdtinL pniywnynipjwl hwiwp

250.0

250.0

1147

dn)huwuncputpnud , ynwwyutpned nbhubhyuwywl htnnuyutph
Jwadwnph pnujjnynipjwl hwdwp

210.0

210.0

1148

dt)3wdwjuph tnwnpwspnid hwlpwhu utunh Yugdwytpudwu W
hpwguw pnijjnynipjwl hwdwp

510.0

510.0

1149

Ingthwlqunh Shuwlwwnwnnipjwl dwnwjnipyntlltph
hpwywuwgned

0.0

0.0

1150

Sthuuhywywu W hwwnniy Lpwlwynepjwu hpwdwnnipiniu

0.0

1150

1.4 UwypwGpObiph dwwnwlwpwpniihg b swewjnipynitGbtph
dwuwnigniihg wjp ywpwwnhp ydwpbtn

wjn pynid’

7146

14000.0

14000.0

1151

Jwiwyhph pyniet Jdwnynn wbwmwlwh winppbp
(ninn 1152 + wninn 1153 )
wjn pynid’

14000.0

14000.0

1152

w) Lwnwpwghwlwh Yugnipjwl whwnbn gpwbgtint, npwlg
GwuhG pwnwpwghlbphl UnyGwyh Jywjwywdben,
pwnuwpwghwlw jugnigjwl wywnbpnid juwnwnpyws
gpwnnuibbpned hnthnfuncg)nilGbn, |pwgnidlin, nunnnudGein
Yuwwnwpbpnt b ybpwlwbebiwl juwwygnepjwip Jywjwlwbhtp
nwnt hwdwnp

3,000.0

3,000.0

1153

p) Lninwpwlw qpuublyuytbph Ynndhg Gninwnpwlwh
Swnwynig)ntGGbp Yuwwnbpnt, Gninwpwlwb Yunpgny
Judtpwgywé thwuwmwpnptinh YnlGophGwllbp wwine, Gaqwé
dwpdhGatph Ynnihg gnpéwpelbph Gwfuwagdétn L nhdnwdGtip
Yuaukint, thwunwpnpbph wwwnsklbp hwbnt L npwlghg
pwnywépltn tnwint hwdwn

11,000.0

11,000.0

1200

2. MuUcsSNLULUL HruvucLNPILEN

(nnn 1210 + winn 1220 + wninn 1230 + winn 1240 + winn 1250 + wninn
1260)

win pyntd’

7300

890783.88

426720.2

464063.68

1240

2.4 Ywwhwwi wpnwphb ywaunGwlwb npwiwbnphbbp’
unwgywd dhowagqujhb YuquwlbpwnipntGbbphg
wjn pynid”

7322

12962.78

12962.78




SwpbYwh Gaunywo wjwh
Snnh Annywo wjn pyntd’
NN bluwdnunGuwlieng hNN | COnwWOBOR R iwG | pnlnwihG
(u.5+u.6)
dwu dwu
1 2 3 4 5 6
wiw)lph pjnLeb dnunpwagnynn wnwnwphb wwawnnGwlywl
npwdwbnphlbn” unwgywséd thowaqauwjhh
e JuqiwytpwnipyntGatiphg Yuuwhwwg swiuubiph $hlwbuwynpiwl L » RS
Gywwnwyny _
1250 2.5 RGpwghl GEpphG ww2wnnGuwlwh npwiw20nphlbp” unwgywe 7331 426720.2 426720.2 X
Juwnwywndwh wjl dwlywpnwybbphg
(nnn 1251 + winn 1254 + wnnn 1257 + wnn 1258)
nphg'
1251 w) MEnwywh pjnigtihg Phlwbuwywh hwiwhwpetigiwl 425,088.4| 425,088.4 X
ubgpnilpny inpwdwnpynn nnunwghwlbp
1254 p) Mbnwlwh pynipbihg tnpwdwnnynn wjl nnunwghwitp 0 0 X
wjn pyntd”
pw) Iwdw)bph pynietih GUwdnunGtipp Guakiglnn’ 33
1255 opklpltph Yhpwnpyiwh wpryntGpntd hwdwylph pynteth 0 X
tUwdnunGenh Ynpneunbiph whwnnipjwl Ynndhg
thntuhwwinigynn gniownlbip
1256 pp) wj nninwghwbp 0 X
q) Mtwnwlwh pynietihg npwdwnpydnn Guuwnwlwihl
1257| | inlwgniitsp (unLputGghwt) L X
n) 33wy, hwow)GpGtph pniebltphg nGpwghl dwhuutph
1258 | PhGwluwynpiwb Gywwnwyny utnwgynn wwwnnbwywh 0 X
nnwiwbnphGtn
nphg'
1259 Gplwh pwnwph hwiwpwnwpwjha Gaubwynipjwl Swfuutiph 0 X
Dhlwbuwynpiwh Gywwnwyny aLwynpywé shongltiphg
2.6 Ywwhwwy GEpphl wwzwnbwywh npwiw2Gnphobp’
1260 unwgUws YwnwdwniwG w swlwpnwlGnhg 7332 451100.9 X 451100.9
(nnn 1261 + wnn 1262)
wjn pyntd”
w) Mewnwlwh pjniptihg uuhwwy swhuubph $hGwluwdnpiwl
= GuwwnwluwihG hwwnlwgniilbp (unipybiGghwtin) ol X sy
1300 |3. USL tuuunrsuer 7400 143081.2 143081.2 0.0
(nnn 1310 + ninn 1320 + winn 1330 + winn 1340 + wnn 1350 + wninn
1360 + tnnn 1370 + wnnn 1380)
wyn pynid-
1320 (3.2 Uj| ny hwpywjhu Gywdnunutp 7412 404.2 404.2 X
wjn pyntd’
1321 Anposwinnch Unin Jwuliwghnwywl whuwwnwlipwihu thnpa atinp 404.2 404.2 X
pbnGINL hwdwn wewygnipntu
1330 |3.3 Gnijph uwpdwlwinipjnibhg GYwinLnbtp 7415 14160.4 14160.4 X
(inn 1331 + winn 1332 + winn 1333 + 1334)
wyn pyntd’
1331 Swdw)bph ubthwlwbnipyntl hwiwnynn hnntiph updwlwnipjwl 73538| 7,353.8 X
Jwpdwddwnbtn :
1332 wdwylph Jwpswlywl nwpwépnti qulynn whnwlwh 00 X
ubthwlwGnipntd hwiwndnn hnnbiph ywpdwlwnipiwd '
-gJnunwnGunbuwywl GowGwynipjwl 730.0 730.0
-ns qyninwinbunbuwyul Gowlwynipjwl 6,623.8| 6623.8
1333 Swiw)bph Jupswluwl nwpwépntd qunGynn whwnnipjwl L 0.0 X
hwiw)Gph ubthwywnipiwin wwnbwlnn hnnwdwutph i
1334 | Uy gnuph Jupdwlwinipinilhg dnuwnpbp 6,806.61| 6,806.61 X




Swpblywh zndwd wiwh

Snnh Innywé wjn pyntd’
NN Glwinmwwmbuwybtbpp h NN CLOnwikhp Tonsmws | preenG
(u.5+u.6)
dwu dwu
1 2 3 4 5 6
3.4 3wdwjlph pjnigbh GLwdninbbp wwypwbpbbph
L twwnwlwpwpnidhg b SwpwjnipjntGGbph dwwnnignidhg T R ) X
(nnn 1341 + wnn 1342)
wyn pyncd’
Mbwnnipjwl Ynnihg mbnwlwl hGplhwlywrwywnpiwb
GwndhGhenph6 ywnyhpwlyywdé thwgnpnipncGlbph hpwlwlwgiw
L Swhuubph $hlwluwynpiwb hwdwp whnmwlwhb pjniebihg utnwgynn B B X
dhongltin
1350 (3.5 dwpswlwh qubdnLibbn 7422 119542.3 119542.3 X
(nnn 1351 + innn 1352 + wnnn 1353)
wjn pyncd’
1351 | Sknwlywb yswpbbp 114,562.3 114,562.3 X
Swdwjuph nwpwépnd 26Uph Yuwd 2huntpjwl wnunwphU nkupp
thnihnfunn Yyspwyuwnnigdwl whuwwnwlplbinh enyiunynpjwl 15.0 15.0
dlwybpwdwl swnwjniejntuutph thnjuhwwnnigdwu yéwn
Ulwuliwpnrdwywl dwnwjnipjntbutnhg yawn 259.0 259.0
Ounnuwywl yéwputn 60268.3| 60,268.3
UnpwhwlntpjwUu Jawn 50000.0f 50,000.0
Chlwpwpnipjwl wywpwnp thwuthwagpbnt hwdwnp 1400.0] 1,400.0
GhlntpynLlubph pwhwagnpodwl pnypny. hwiwn 1400.0f 1,400.0
Ungneyplbip L wanipnlbp Yuglwybpwbint hbn uwdwsé wpfu 1220.01 1,220.0
Swiwylph upswlwb nmwpwdédpnid hGplhwlhwd Junnigywéd
1e82 26lptnh, 2hlnepyntlGGEph ophGwlwlwgdwh hwiwp Jdwnlbp e =
OntGpny uwhiwGywé nwpbpnid hwiw)GpwihG hhiGwnplyGhph
ynnihg wrwbg mtnwlwb nnipph quwbdiwb dwwnnigynn
1ees SwnwnipjnLGlbnh Ywod Ywwnwnynn gnpénnnepintGlbph nhdwg g AP 3
uinwgynn (qubdynn) yawnbbp/yapwhwugtwynnniu/
Puwysnipjwl hwnnly uwywuwpynwdhg Unwinptn 1680.0| 1,680.0
1360 |3.6 UnLinpkip wintydbiphg, winLqulipltphg 7431 3500.0 3500.0 X
(nnn 1361 + wninn 1362)
wjn pyncd’
dwpswlwb hpwjwhuwfunnidGbph hwiwnp nbnulw
el hGpGwhwrwdwndwl dwnihGGbph Unnihg Aalid) SA000 -
Untwinpbip hwiw)jlph pjnipbh GUundwdp unwGalwé
1362 wuwjyiwlwapwihl wwnwnwynpnepintGbbph syuwwnwpiwb nhiwg 0 X
qwldynn wnnydbiphg

UChuUSULU2UN _UNSAFAUN:
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